The solutions for all assigned problems are given below. 

I have also included some qualitative and quantitative questions similar to the questions in Midterm I

SampleMid1Q1. What are the main differences between NPV, IRR, and B/C?

SampleMid1Q2. What advantages are lost if the sum of the weights in a weighted scoring approach does not add to 1.0?  Why is it suggested that factors with less than 2 percent or 3 percent impact not be considered in this approach?

SampleMid1Q3. When it comes to assigning individuals to work on projects, functional managers and project managers are often in conflict. How can the PM resolve this problem?

SampleMid1Q4. Which technique can provides almost all information provided by an interface map?

SampleMid1P1. All cash inflow/outflow in this problem occur at the end of the corresponding year. The design of a new product is expected to take one year at a cost of 5M. There is a 0.7 probability that the project will be technically feasible. If feasible, it can be launched with an estimated cost of $6M paid in Year 2. If launched, the useful life of the project is only one year with no salvage value at the end of Year 3. When launched, it will be in one of the following three states: (1) Extraordinary commercial success with probability of 0.2, earning a net after-tax cash inflow of $30M.  (2) Average commercial success with probability of 0.7, earning the net after-tax cash inflow of $15M.  (3) Commercial failure earning the net after-tax cash inflow is $5M.  The discount rate is 10 percent.   Compute the expected commercial value of this project.

Expected return in Year 3  if the project is technically feasible = 0.2*30+0.7*15+0.1*5 

Expected return in Year 3  if the project is technically feasible =  17M

The present value of this cash flow at the end of year 2 is 17/1.1 = 15.45M

The investment at the end of Year 2 is -6M. Therefore, the net present value at the end of year 2 is 15.45 – 6 = 9.45.

But there is only 70% probability for this line. Therefore, the expected cash flow is 

9.45*.7 = 6.61M. Furthermore, it is a cash flow at the end of Year 2.

The present value of this cash flow at the end of year 1 is 6.61/1.1 = 6.01M

Since the initial investment is –5, the net present  value of the project at the end of year 1 is  6.01-5 = 1.01
Expected commercial value at the end of year 0 is  1.01/1.1 = 0.92
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